(Gx+ 2)(2x— 4)(5x + 4)
(4x — 2)(5x% + 4x + 5) — (4x — 5)(x — 2)
(5x— 4)(6x — 2)(x + 3)

(5x+ 3)2x — 1)(6x+ 2)

(6x— 5)(5x% +3x+2) — Bx + 1)(5x — 4)

(4x—5)(x—2)(x—3)

6x + (2 — 2x)(dx + 2)(4x — 2)

6x + (6 — 4x)(2x + 2)(3x + 3)

(2% + 4x — 4)(dx — 6) — 2 X 6x + 2

(2% + 5)(5x + 6) — 3% +3x + 4
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BETTR e

- IFGIGE THR:
(3x + 2)(2x — 4)(5x + 4) (4x— 5)(x — 2)(x — 3)
30x° — 16x° — T2x — 32 4> — 25x° + 49x — 30
(4x — 2)(5:> + 4x + 5) — (4x — 5)(x — 2) 6x + (2 — 2%)(4x + 2)(4x — 2)
2053 + 252 + 25x — 20 —32x° + 32%° + 14x— 8
(5x—4)(6x — 2)(x + 3) 6x + (6 —4x)(2x + 2)(3x + 3)
30x° + 56x° — 9dx + 24 —24x> — 12%° + 54x + 36
(5x + 3)(2x — 1)(6x + 2) (2% + 4x — 4)(dx— 6) — 2 x 6x + 2
60x° + 26x° — 16x— 6 8x° + 4x2 — 52x + 26
(6x— 5)(5x> +3x+ 2)— Bx + D(5x— 4) (2% + 5)(5x + 6) — 3% +3x + 4
3000 — 222 +4x— 6 10x° + 9x2 + 28x + 34

www.snowmath.com


https://www.snowmath.com

